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Rob. L. Rod AB is made of brass (E, = 15 X 10° psi, ap = 11.6 X 107°°F) and
rod CD of aluminum (E, = 10.1 X 10° psi, @, = 13.1 X 107%°F). Knowing that
at 60°F 2 0.02-in. gap exists between the ends of the two rods, determine (a) the

“normal stress in each rod after the temperature has been raised to 180°F, () the
deformation of rod AB at that time.
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Pml: 2. A 36-mm-diameter shaft is made of a grade of steel with a 250-MPa
tensile y@d strength. Using the maximum-shearing-stress criterion, determine
the magnitude of the torque T at which yield first occurs when P = 200 kN.
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Pﬁ.L, 3. A strain gage is attached horizontally to the cvlindrical surface of a
pressure vessel of 600-mm outside diameter and Te50-mm wall thickness. Kuow-
ing that E = 200 GPa and » = 0,25 and that the strain gage reads 120 u, deter-
mine the gage pressure inside the vessel. V

(an't) 311& 'Hovkes' L—aw Uw o Biryal
stvees state must be weed.

(254%)

600 mm

FEAAR R EREGAE




RIENAELTERERRLHB LA WNRM %2 H 8JH

men b 180w TERBRIE SERESPEPaL

FRERTTLEAEER . Mags - OF9ER  (FoEZHg8)

Prob. €. The simply supported beam AB is struck squarely at D by a block of
mass m moving horizontally with a velocity vo. Show that the resulting maximum
normal stress o, in the beam due to bending is independent of the location of

point D. /
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(2) Styain Energy in Beam U ""l:z E: dx

{3) Neﬂlﬂd-' the Tnevlis. Efech of Im ack, Fig. Pab. 4,
Us:‘nﬂ the C'onceft of Ebw:l/d[eht 3aby Load.
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